
 

 

 

  

  

  :1ا������ 


 	� ا����  1��

� ) 1(ــ ����ن ا��ارة ا��������
 ا�� ، :  

  E=12V&��% ا�����$�آ
  (G)ــ ���� �
�� 
  . و�-�و��% ا��ا+��

 �1: �-�و���ه
� 3�2 ا���ا��  D2و  D1ــ ��0��� أو��� 2,7R K= Ω  و

2 1R K= Ω  

و  �E����ر ا�������� ا�
�ر 	� ا��ارة ���9
   Iأ73 ���56 ا���ة  1ــ  1
R1  وR2  .  
  
  
  
  
  
  
  
  
  
  
، @��? 3�2 ا����  D2، ا����� ��� &<UBC  �5أ ــ ��� أن ���56  2ــ  1

E: ا����� 
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R
U
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 ?ABب ــ أUBC   
2  D�آ� �����
3 EFG� ، H��Aإ�2 ا���آ�? ا�������� ا� J�GK ــ

  ) �O��@)2 	� ا��LNم ا�F<� ، أ�LK ا���� 
3
����� آ��� .  1ــ  2 EFG
� ����P�PQا ���0�F��� ذآ� .  

 ���� ا��+�ل  2ــ 2
� أن &���Ue  ������ 
-��Aا� 

ه� UVK ا�-�

UBC  الWAا� �	2.1  /  
� 3ــ 2�� 
&D6ا� �ZأوUS  وUe  . ه[ا ا���آ�? ؟ EPا ��  

  4ــ  2

� أن `�ة ���ر  D، �-�و�
 ا�
��0 أQو��  �BRد &��3 ،

  .  Is=10mAا��Fوج ه� 
  

  

  

  

  

  

  

  

  

  

  :3ا������ 


�� أVP�f�B % ا�
EFG آ��� @���O 	� ا��LNم 
�5�6K ا���آ�? ا�
 �>Fا�  
 �>6K :E1=1V  وE2=1,5V   

R=1Ω  وR1=100Ω  وR2=500Ω   

1  H�OK ــK1  وK2   
�9
 ا�����  i2أ ــ أو�Z ���56 ا���ة ��uS  وE1  وR  وR1  .  
�9
  uNMب ــ أو�Z ���56 ا����� ��E2  وR  وR2  .  

 ��56� 
-��Aا� n���Nا� �� n�N�Pج ــ اuS  
�9��E1  وE2  وR  وR1  . Eo
 %�
�& ?ABا .  
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  .  R2د ــ أAB? ا�-�رة ا�
�5دة 	� ا�$
 pKه[ا ا���آ�? إذا آ� 
V�qو ��ــ  rR=R1  ؟  

2  ��56� 
-��Aا� n���Nا� �� n�N�Pــ اuS  �
 ا���آ�? 	� ا�$����V�qوو
 :  

  ���Vح  K2�O�H و  K1أ ــ 
  �O�K2 H���Vح و K1ب ــ 
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